E 3648-0417



E 3648-0417

ReiNo, | Quanty PartNo it Rt No. | Quantty Partio it
Postione | Quanita | Nr.dOrdne. indicazions Postione | Quaniia | Nr.dOrdne. indcazions
Posicion Cantidad No. Referenzia Indicaciones Posicion Cantidad No. Referenzia Indicaciones

1 1| 11001836

2 1| 25030002 |DIN908-M14x1,5

3 1| 11001752

4 1| 21000995

5 12| 25038008 | DIN933-M8x25

6 2| 20005020

7 2| 25031003 |DIN934-M8

8 4| 20004011

9 4| 20029023 |SKB 12

10 4| 25031005 |DIN934-M12

11 1| 11001835

12 1| 25017047

13 1| 20013295

14 4| 25044005 |DIN912-M8x20

15 4| 20029011 |VSKZ 8

16 1| 11001754

17 4| 21000589 |DIN7964-M8x30

18 4| 20029011 |VSKZ 8

19 12| 20029024 |Nord-Lock 8,0

20 2| 20029003 |VSK8

04.17




E 3649-0216



E 3649-0216

Position
Ref.No.
Repére
Posizione
Posicion

Menge
Quantity
Quantité
Quantita
Cantidad

Teile-Nr.
Part-No.
No. Référence
Nr. d'Ordine
No. Referenzia

Hinweis
Hints
Indications
Indicazione
Indicaciones

Position

Ref. No.

Repére
Posizione
Posicion

Menge
Quantity
Quantité
Quantita
Cantidad

Teile-Nr.
Part-No.
No. Référence
Nr. d'Ordine
No. Referenzia

Hinweis
Hints
Indications
Indicazione
Indicaciones

11001574

11001941

25044004

20029011

11001562

11001941

20020035

25044004

20029011

DIN912-M8x16-10.9

VSKZ 8

DIN912-M8x16-10.9

VSKZ 8

02.16




E 3650-0617



E 3650-0617

oten |y | Lot | Noree | e
e | Quntie | Reterc pdters e | Qunti | 1 Rt picters
Posicion Cantidad No. Referenzia Indicaciones Posicion Cantidad No. Referenzia Indicaciones
1 11001560
2 11001573
3 25001045
4 25034006 | DIN471-A35x1,50
5 25035003 | DIN472-J62x2,0
6 21000643
7 11002135
8 11002136
9 25044002 | DIN912-M6x16
10 20029015 |VSKZ6
11 11001575
12 25045028 | DIN912-M10x35-10.9
13 25025245
14 11001559
15 11001942
16 25027022 | DIN914-M6x20
17 25001513
18 25034002 | DIN471-A12x1,0
19 10016066
20 25035026 | DIN472-J28x1,20
21 20013270
22 10016071
23 10007370
24 20029001 |VSK 10

06.17




E 3651-0216



E 3651-0216

Position
Ref.No.
Repére
Posizione
Posicion

Menge
Quantity
Quantité
Quantita
Cantidad

Teile-Nr.
Part-No.
No. Référence
Nr. d'Ordine
No. Referenzia

Hinweis Position
Hints Ref. No.
Indications Repére
Indicazione Posizione
Indicaciones Posicion

Menge
Quantity
Quantité
Quantita
Cantidad

Teile-Nr.
Part-No.
No. Référence
Nr. d'Ordine
No. Referenzia

Hinweis
Hints
Indications
Indicazione
Indicaciones

11001561

11001572

25015016

21000643

11001558

25045028

25025245

DIN912-M10x35-10.9

02.16




